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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 

[˝Á◊SLÓ ( Commerce ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

◊•Tˆ›Ã^ Yy ( 2nd Paper : Business Economics ) 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

◊[˝\ˆÁG - Eı 
 Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
1* ◊XÃ[˝„Yl˘ ÂÃ[˝FÁ EıÁ„Eı [˝„_ ? AÃ[˝ È[˝◊`rÙÓm◊_ ◊Eı ◊Eı ? 

AEıLX Â\ˆÁN˛Á ◊Eı\ˆÁ„[˝ TˆÁÃ[˝ \ˆÁÃ[˝aÁ]Ó y‘Ã^ÿôˆ„Ã[˝ =YX›Tˆ    
c˜X ?  4 + 6 + 10  

2* Y◊Ã[˝[˝Tˆ¤X`›_ %X«YÁ„TˆÃ[˝ a…y◊ªRÙO ◊Eı ? AEı◊ªRÙO Y◊Ã[˝[˝Tˆ¤X`›_ 
=YÁVÁ„XÃ[˝ Â]ÁªRÙO =dYÁVX, GQÕˆ =dYÁVX A[˝e Y“Á◊‹ôˆEı 
=dYÁV„XÃ[˝ a+EÔı ◊XW˝ÔÁÃ[˝S EıÃ[˝”X* ◊ªJÙyac˜ =dYÁV„XÃ[˝ 
Y^ÔÁÃ^m◊_ ÂVFÁX A[˝e ◊[˝‰`¿bS EıÃ[˝”X* 4 + 10 + 6  

3* Y…SÔ Y“◊Tˆ„^Á◊GTˆÁ]…_Eı [˝ÁLÁ„Ã[˝ AEı◊ªRÙO ZıÁ„]ÔÃ[˝ VÁ], GQÕˆ %ÁÃ^ 
C Y“Á◊‹ôˆEı %Á„Ã^Ã[˝ a+EÔı ◊Eı ? Ac˜O [˝ÁLÁ„Ã[˝Ã[˝ È[˝◊`rÙÓm◊_ 
◊Eı ◊Eı ? ◊Eı\ˆÁ„[˝ AEı◊ªRÙO Y“◊Tˆ„^Á◊GTˆÁ]…_Eı ZıÁ]Ô ÿëˆîEıÁ_›X 
\ˆÁÃ[˝aÁ„]Ó =YX›Tˆ c˜„[˝ ? 4 + 6 + 10 

4* Y“Á◊‹ôˆEı Â\ˆÁG Y“[˝STˆÁ ◊Eı ? AÃ[˝ a„Ü ÂEıc˜OXÀa›Ã^ ◊[˝◊X„Ã^ÁG 
mS„EıÃ[˝ a+EÔı ◊XW˝ÔÁÃ[˝S EıÃ[˝”X* Ac˜O mSEı Tˆ„√º¯Ã[˝ 
a›]Á[˝à˘TˆÁm◊_ ◊Eı ◊Eı ? 3 + 12 + 5   

◊[˝\ˆÁG - F 
 Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 
5* %UÔÍX◊TˆEı FÁLXÁ EıÁ„Eı [˝„_ ? ◊ªJÙyac˜ ÂVFÁX Â^ FÁLXÁÃ[˝ 

%ÁW˝«◊XEı Tˆ√º¯◊ªRÙO Â^ÁGÁ„XÃ[˝ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁÃ[˝ CYÃ[˝ ◊X\ˆ¤Ã[˝`›_* 
  4 + 8  
6* ÿëˆîEıÁ_›X GQÕˆ [˝ÓÃ^ ÂÃ[˝FÁÃ[˝ %ÁE ı◊Tˆ ◊Eı\ˆÁ„[˝ ◊XW˝ÔÁ◊Ã[˝Tˆ c˜Ã^ ? 

Y“Á◊‹ôˆEı [˝ÓÃ^ C GQÕˆ [˝Ó„Ã^Ã[˝ a+EÔı ◊XW˝ÔÁÃ[˝S EıÃ[˝”X* 8 + 4 
7* VÁ] Y UEı›EıÃ[˝S ◊Eı ? AEıLX VÁ] ÿëˆTˆ‹óˆ›EıÃ[˝SEıÁÃ[˝› 

AEı‰ªJÙ◊ªRÙOÃ^Á ZıÁ]Ô ◊Eı\ˆÁ„[˝ \ˆÁÃ[˝aÁ]Ó %[˝ÿöˆÁÃ^ =YX›Tˆ c˜X ? 
  2 + 10  
8* ÂEıc˜OXÀa›Ã^ XGV YªK˜≥V Tˆ√º¯◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 12 
9* %„UÔÃ[˝ Y◊Ã[˝]ÁS Tˆ√º¯◊ªRÙO ◊Eı ? A Y“a„Ü ◊Zı`Á„Ã[˝Ã[˝ \ˆÁbÓ◊ªRÙO 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 10 
10* %Á◊UÔEı X›◊Tˆ ◊Eı ? AÃ[˝ c˜Á◊TˆÃ^ÁÃ[˝m◊_ ◊Eı\ˆÁ„[˝ @S ◊XÃ^‹óˆ„S 

aÁc˜Á^Ó Eı„Ã[˝ ? 2 + 10 
◊[˝\ˆÁG - G 

 Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 
11* %◊_„GÁY◊_ [˝ÁLÁ„Ã[˝Ã[˝ È[˝◊`rÙÓm◊_ ◊Eı ◊Eı ?  
12* [˝ÁLÁÃ[˝ [˝Ó[˝ÿöˆÁ a+„EÔı AEı◊ªRÙO W˝ÁÃ[˝SÁ =YÿöˆÁ◊YTˆ EıÃ[˝”X* 
13* ªJÙÁ◊c˜VÁÃ[˝ VÁ] ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁÃ[˝ aep˚Á ◊VX* ªJÙÁ◊c˜VÁÃ[˝ VÁ] 

◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ ◊XW˝ÔÁÃ[˝SEıÁÃ[˝› ◊[˝bÃ^m◊_ ◊Eı ◊Eı ?  
14* LÁTˆ›Ã^ %ÁÃ^ Y◊Ã[˝]Á„YÃ[˝ %a«◊[˝W˝Ám◊_ ◊Eı ◊Eı ? 
15* =dYÁV„XÃ[˝ ]ÁyÁ Y◊Ã[˝[˝Tˆ¤„XÃ[˝ ◊[˝◊\ˆ~ Y“EıÁÃ[˝„\ˆVm◊_ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 
16* È[˝„V◊`Eı @„SÃ[˝ \ˆÁÃ[˝ [˝_„Tˆ ◊Eı Â[˝ÁMıÁ ^ÁÃ^ ? 
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ENGLISH VERSION 
 

Group - A 
 Answer any two from the following : 20 × 2 = 40 
1. What is an indifference curve ? What are its 

features ? How does a consumer attain his stage 
of optimal or equilibrium purchase ? 4 + 6 + 10 

2. What is the law of variable proportion ? 
Determine the relationship among total product, 
average product and marginal product of a 
variable factor. Diagrammatically show the 
different stages of production and analyse them. 

  4 + 10 + 6 
3. What is the relationship among price, average 

revenue and marginal revenue of a firm under 
perfect competition ? What are the features of 
this market ? How does a competitive firm attain 
equilibrium in short run ? 4 + 6 + 10 

4. What is marginal propensity to consume ? 
Determine its relationship with Keynesian 
investment multiplier. What are the limitations of 
this theory ? 3 + 12 + 5 

Group - B 
 Answer any three from the following : 12 × 3 = 36 
5. What is economic rent ? Show with the help of 

diagrams that the modern theory of rent is 
dependent on elasticity of supply. 4 + 8 

6. How is the shape of short run average cost curve 
determined ? Determine the relationship between 
average cost and marginal cost. 8 + 4 

7. What is price discrimination ? How does a 
discriminating monopolist attain equilibrium ? 

  2 + 10 
8. Discuss the Keynesian liquidity preference 

theory. 12 
9. What is the quantity theory of money ? In this 

context discuss Fisher's version. 2 + 10 
10. What is monetary policy ? How do the 

instruments of monetary policy help in the 
control of credit ? 2 + 10  

Group - C 
 Answer any four from the following : 6 × 4 = 24 
11. What are the features of an oligopoly market ? 
12. Present an idea about the concept of market 

mechanism. 
13. Define price elasticity of demand. What are the 

determinants of price elasticity of demand ? 
14. What are the disadvantages or problems of 

estimating national income ? 
15. Discuss different types of Returns to scale. 
16. What is meant by burden of external debt ? 

    


